
1 
 

Please check total printed pages before start:- 13+2 Map 

Roll NO. :   ------------------- 

SUMMATIVE ASSESSMENT-II - 2014-15 

SUBJECT-SOCIAL SCIENCE  

CLASS – X 

--------------------------------------------------------------------------------------------

---Time: 3 Hours                                                                    Marks: 90                        

--------------------------------------------------------------------------------------------

---  

General Instructions: 

i) There are 31 questions in all. All questions are compulsory. 

ii) Marks for each question are indicated against the question. 

iii) Questions from serial number 1 to 9 are multiple choice questions               

      (MCQ) of 1 mark each. Every MCQ is provided with four        

       alternatives. Write the correct alternative in your Answer-book. 

iv) Questions from serial number 10 to 21 are 3 marks questions. 

      Answer of these questions should not exceed 80 words each 

v) Questions from serial numbers 22 to 29 are 5 marks questions. 

     Answer of these questions should not exceed 120 words each. 

vi) Question number 30 is a map question of 2 marks from History  

      and 31 is a map question of 3 marks from Geography. 

vii) Attach the filled up maps insides your answer book. 

i) कुल 32 प्रश्न हैं। सभी प्रश्न अनिवार्य हैं। 
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ii) प्रत्रे्क प्रश्न के नलए अंक सामिे दीरे् गए हैं । 

iii ) प्रश्न 1 से 9 तक बहु वैकल्पिक प्रश्न एक- एक अंक के हैंI प्रत्रे्क बहुवैकल्पिक प्रश्न 
के चार- चार ववकपि ददए गए हैंI सही ववकपि को अििी उत्तर िुल्ततका में नलल्िएI 

      1 अंक प्रत्र्ेक के (MCQ) । हर MCQ चार के साथ प्रदाि की जाती है 

   ववकपि । आिका उत्तर - दकताब में सही ववकपि नलिें। 

vi) क्रम संख्र्ा 10 से 21 तक प्रश्न 3 अंको के हैं I 

इि सवालों के जवाब 80 शब्दों से अनिक िहीं होिी चादहए 

 

 v)  िंबर 22-29 तक प्रश्न 5 अंको के हैं । 

   इि सवालों के जवाब 120 शब्दों प्रत्र्के अनिक िहीं होिी चादहए । 

 vi) के प्रश्न संख्र्ा 30 इनतहास स े2 अंक का एक िक्शा सवाल है 

  और 31 भगूोल से 3 अंक का एक िक्शा सवाल है। 

        भरा िक्शे अििी उत्तर िलु्ततका के अंदर संलग्ि कील्जरे्। 

1. Not true about the female allegory of   France is.                                       1x9 

(a) She was named Marianne. 

(b) She took part in the French Revolution. 

(c) She was a symbol of national unity. 

(d) Her characteristics were drawn from those of Liberty and the Republic. 

                                                                                                  

(i)  

(ii)  
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(iii)  

(iv)  

Or 

    What was the result of the peace negotiations held at Geneva 

after         the defeat of the French forces in 1954? 

 

(a) Vietnam was made independent. 

(b) Vietnam was handed over to France. 

(c) The U.S.A. forces had to withdraw from Vietnam. 

(d) Vietnam was divided into two parts-the South Vietnam and the                

      North Vietnam. 

1954 में फ्ांसीसी सेिा की हार के बाद ल्जिेवा में आर्ोल्जत शांनत वाताय का 
िररणाम क्र्ा था? 

 

(i)ववर्तिाम तवतंत्र बिार्ा गर्ा था। 

(ii) ववर्तिाम फ्ांस को सौंि ददर्ा गर्ा । 

(iii) संर्कु्त राज्र् अमेररका बलों ववर्तिाम से वािस लेिे के नलए दकर्ा था । 

(iv)ववर्तिाम दो भागों -दल्िण ववर्तिाम और में ववभाल्जत दकर्ा गर्ा था 

 उत्तरी ववर्तिाम । 

 

 

2. Who said  these words, “We want to run away our faces from the  

Government House and turn them to the huts of people”. 
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(a) Lala Lajpat Rai 

(b) Pt. Jawahar Lal Nehru 

(c) Lokmanya Tilak 

(d) Madan Mohan Malviya 

 

(i)  

(ii)  

(iii)  

(iv)  

 

3. Mineral is contained in the Monazite sand- 

(a) Oil 

(b) Uranium  

(c) Thorium 

(d) Coal 

 

(i)  

(ii)  

(iii)  

(iv)  
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4. Ports is the deepest land-locked and well protected port along 

the east coast- 

 (a) Chennai 

(b) Tuticorin 

(c) Paradip 

(d) Vishakhapatnam 

 

(i)  

(ii)  

(iii)  

(iv)  

 

5. Backward and Minorities Community Employees Federation 

(BAMCEF) is an example of – 

 

(a) Public Interest Group 

(b) A movement of equality 

(c) A sectional interest group 

(d) A Political Party  

 

(i)  

(ii)  
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(iii)  

(iv)  

 

6. Is not a national party- 

(a) Indian National Congress 

(b) Aam Adami party 

(c) Bhartiya Janta Party 

(d) Bahujan Samaj Party     

  

(i)  

(ii)  

(iii)  

(iv)             

 

  

7. Meant by transparency is – 

(a) Decision taken by one party 

(b) Decision taken by king 

(c) Decision taken for selfish motives 

(d) Decision taken through the correct procedure 

 

(i)  
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(ii)  

(iii)  

(iv)  

 

8. The currency notes on behalf of the Central Government issued 

by – 

(a) State Bank of India 

(b) Reserve Bank of India 

(c) Punjab National Bank  

(d) Central Bank of India 

 

(i)  

(ii)  

(iii)  

(iv)  

9. Where did the Ford Motors set up their large plant? 

 

(a) At Mumbai 

(b) At Chennai 

(c) At Kolkata  

          (d) At Kanpur 
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  फोर्य मोटसय अििे बडे संरं्त्र तथावित दकर्ा था - 

(i) मुंबई में 
    (ii) चेन्िई में 
     (iii) कोलकाता में 
     (iv) काििुर में 
 

10. Write a short note on Frankfurt Parliament.                   (3) 

                                    

Or 

      Describe the ideas behind the Tokin Free School. To what extent 

was it is a typical example of colonial ideas in Vietnam? 

 

 

11. Why did Gandhiji decided to withdraw the Non-Cooperation 

Movement?                                             (3) 

िे                

12. Compare the image of Bharat Mata with the image of    

Germania.                                              (3) 

 . 

13. Study the given chart carefully and answer the questions that 

follow.                                                   (3) 

.                                  
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(i) Which state is the largest producer of iron ore in India? 

 

(ii) Name any two iron belts of India. 

 

(iii) Which is the best iron-ore? 

 

14. Why are the most of the steel plants located in the Damodar 

Valley? Give 3 reasons.                                         (3) 

   

15. Write three advantages of ‘Computer Reservation’ in Railways. 

(3) 

रेलवे के    

16. What is the Pressure Group? Give a few examples-            (3) 
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17. What are the characteristics of democracy? Explain in brief.    

(3) 

संल्िप्त                                  . 

18. Why do we need of Political Party?  Explain in brief.           (3) 

संल्िप्त  

. 

19. What do you understand by the Globalization? Explain In your 

own words.                                                    (3) 

          

20. Mayur needs a loan to set up a small business. On what basis 

will Mayur decided whether to borrow from the bank or the 

moneylender? Explain it.                                       (3) 

                                                                                                                   

21. Explain right of a consumer as enriched in the Consumer 

Protection Act of 1986.                                         (3) 

                                                                                                        

22. Explain the contribution of Otto Von Bismark in German   

Unification.                                                   (5) 

  

Or 
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       What was the role of women in the anti-imperialist struggle in 

Vietnam? Compare this with the role of women in the national 

struggle in India.  

                

23. The Salt March to make clear why it was an effective symbol of 

resistance against colonialism. Explain it.                         (5) 

                                           

24. Why are the means of transportation and communication called 

the lifeline of nation and its economy?                           (5) 

                                                         

25. How do industries pollute the environment? Explain in  five  

points.                                                   (2+3=5) 

 

 

26. What are the various challenges faced by a political party.     (5) 

  

27. Why do people prefer democracy? Explain with few reasons.   

(5) 

      

28. Give argument in favor of WTO (World Trade Organisation).     

(5) 
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में        

29. Mention a few factors which cause exploitation of consumers    

(5) 

उिभोक्ता के शोषण के कुछ कारकों का उपलेि कील्जरे्  

 

30. Locate and label the following places with appropriate symbols 

on the given map.                                                 (2) 

 

भारत के रेिा मािनचत्र िर निम्िनलल्ित को उिर्ुक्त संकेतों द्वारा दशायइए 
और उिके सही िाम नलल्िरे्  

(A) Dandi 

 (B) Champaran  

अ. द ांडी 

 

 ब. चंिारण 

31. Three features A,B and C are marked in the given outline 

political map of India. Identify these features with the help of the 

following information and write their correct names on the outline 

marked in the map.                                                      (3) 

A B c

 

                                                                                                               A. 

Netaji A. Subhash Chandra Bose Airport(Dumdum) 
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B. Silk Textile  

C. Software Technology  

अ. ( )  

ब.   

स.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Q.30

0 

Q.31 
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SUMMATIVE ASSEMENT-II 

2014-15 

MARKING SCHEME 

SOCIAL SCIENCE 

CLASS-X 

General Instructions: 

[i] The marking scheme provides general guidelines to reduce subjectivity and 

maintain uniformity. The answers given in the marking scheme are the best 

suggested answers. 

[ii] Marking is done as per the instructions provided in the marking scheme. 

[iii] Alternative methods are accepted. Proportional marks are awarded. 

[iv] In case where no answers are given or answers are found wrong in this 

marking scheme, correct answers may be found and used for valuation 

purpose. 

1. (b) or (d)                                                                                                                   (1x 

9) 

2. (a) 

3. (c) 

4. (d) 

5. (a) 

6. (b) 

7. (d) 

8. (b) 

9. (b) 
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                                                                                                                                         (1x 

3)                                                                                                                                            

10. Frankfurt Parliament. As a result of French Revolution of 1848 A.D., A 

revolution also took places in Austria. Finding the circumstances quite against 

him, Metternich fled away to England. To unite Germany and to constitution 

for the United Germany, a parliament met at Frankfurt on 18 May, 1848. This 

parliament proposed the unification of Germany under the King of Prussia. The 

King of Prussia, however, opposed the idea of becoming a constitutional 

monarch and declined the offer. Repression soon followed and thousands of 

Germany revolutionaries fled to live in exile. Thus ended the first phase of the 

unification of Germany. 

Or 

(1) Imperialistic powers, the French too wanted to see the local people 

followers of their culture and civilization. 

(2) In this school subject like science, hygiene and French were introduced to 

train the Vietnamese students in the modern subject. 

(3) With this idea in view, the schools, like the Tonkin Free School began to lay 

emphasis on the adoption of western styles. 

                                                                                                                                     

(1+2= 3) 

11. The Non-Co-Operation Movement at its full speed at the time of Gandhiji 

withdraw.  

(1) Chauri Chaura tragedy  in U.P. 

(2)  Jallianwala Bagh tragedy so he called off the moement in 1922 A.D. 

 

                                                                                                                           (1.5 + 1.5 

= 3) 

12. Germania- In Germany, Germania became the symbol of the German 

nation. In visual representation, she is known as wearing a crown of oak leaves 

as German Oak stands for heroism 
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Bharat Mata-In this country to the identify of India, is virtually associated with 

the image of Bharat Mat. Different authors have shown the Bharat Mata in the 

female figure which were quite different to each other.  

                                                                                                                                

(1+1+1=3) 

13.  i) Karnataka 

 ii) Orissa – Jharkhand belt 

 iii) Magnatite with 70 % iron. 

                                                                                                                                 

(1+1+1=3) 

14.i).  Availability of Raw materials .. 

  ii) Bulky and Heavy Raw Materials . . 

 iii) Transport nerve-centre of East India. 

iv) Availability of labour from the Surrounding areas. 

                                                                                                                                 

(1+1+1=3) 

15)i. Reducing malpractices,ii. not being cheated by the Railway Staff,iii. Time 

saving, iv. fast reservation,v.  Return journey also possible from the starting 

junction. 

                                                                                                                                      

(2+1=3) 

16) Definition of pressure groups.  Examples - Stuggles- i. Narmada Bachao 

Moment, 

                                                                                                                                 

(1+1+1=3) 

17) Characteristics- i) Political aspects ii) Social aspects and iii) Economic 

aspects. 
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(1+1+1=3) 

18) i) it is an organized groups. Ii) every individuals can’t contest elections 

especially. Iii) Political parties having own policies and programmes they talk to 

the society to get opinions. iv) controlling the ruling party and informing about 

problems. 

                                                                                                                                 

(1+1+1=3) 

19) Definition    - integration of the economy with the world economy. i. 

simplification of costoms procedures. Ii. Relaxation of investment and capital  

iii. Enhancing efficiency in production. Iv. Improves technological. 

                                                                                                                                      

(1+2=3) 

20) bank. Mayur would get loan from the banks. More people are benefited by 

the formal sources so these be expanded formal sources of credit.  

                                                                                                                                 

(1+1+1=3) 

21) i) protects against marketing of goods. ii) to be informed of various aspects 

of goods. iii) access to a veriety of goods at competitive prices. iv) right to 

assurance of consumers interests. Iv) due consideration. 

                                                                                                                                      

(1+4=5) 

22) i) Unification of Germany ii) War against Denmark 1864. Iii) war against 

Austria 1866. Iv) War against France 1870-71.  

                                                                                                                                          

(5X1) 

23) i) salt was essential for both poor and rich so breaking any law was step 

against colonialism ii) it was meaning of  the SWARAJ so all came 240 miles on 

foot to Mm. k. Gandhi. Iii) Beginning of civil disobedience movement. Iv)on 12th 

March 1930 started. V)  on 6th April 1930 it reached.  
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(5X1) 

24) i) brings far- flung areas closer ii) carry many passengers in least time. Iii) 

carry greatest number of commo0dity. Iv)  useful in war times. V) maintains 

law and order  

                                                                                                                                                                                                    

(1+1+1+1+1=5) 

25) i)Emitting Harmful Effluences And  Smokes Into The Air 

ii ) Discharging large quantities of chemical wastes, 

iii )contaminating under ground water. 

iv)III effects of industries.  

v) health problems. 

                                                                                                                                          

(5X1) 

26) i. Lack of internal democracy. Ii. Dynastic succession iii. Money & muscle 

power. Iv. Meaningful choice top to the voters. v.  Competitons among the 

many parties vi. Pressures from the opposition. 

                                                                                                                                          

(5X1) 

27) People Are Their Own Masters. Ii. Equal & Exact Justice. Iii. Govt. Not By 

Force. Iv. Fewer Conflicts V. Right To Information ( RTI). 

                                                                                                                                          

(5X1) 

28) WTO promotes free trade among the different countries. ii. It resulted 

increase in the economic growth. Iii. Reducing prices. iv. Participation of 

countries. v. effective mechanism. 

                                                                                                                                          

(5X1) 
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29)i. consumers lack of knowledge. Ii. Arrival of new products in the market. Iii. 

Ignorance of consumers to their rights & duties. iv. III effects of 

advertisements. v. ignorance to the expiry date, manufacturing etc. 

                                                                                                                                      

(1+1=2) 

30) Map skills-  

                                                                                                                                          

(3X1) 

31) i. Kolkata. Ii. Varanasi. Iii. Mohali 
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